

Divide by 10^{-1} (C)

Find each quotient.

$$6 : 10^{-1} =$$

$$7,3754 : 10^{-1} =$$

$$6,735 : 10^{-1} =$$

$$7,936 : 10^{-1} =$$

$$5 : 10^{-1} =$$

$$3,48 : 10^{-1} =$$

$$4,1 : 10^{-1} =$$

$$7,349 : 10^{-1} =$$

$$4,68 : 10^{-1} =$$

$$6,1918 : 10^{-1} =$$

$$8,2366 : 10^{-1} =$$

$$2,06 : 10^{-1} =$$

$$4,35 : 10^{-1} =$$

$$0,7 : 10^{-1} =$$

$$4,3 : 10^{-1} =$$

$$9,22 : 10^{-1} =$$

$$8,67 : 10^{-1} =$$

$$9,79 : 10^{-1} =$$

$$2,68 : 10^{-1} =$$

$$6,1381 : 10^{-1} =$$

Divide by 10^{-1} (C) Answers

Find each quotient.

$$6 : 10^{-1} = 60$$

$$7,3754 : 10^{-1} = 73,754$$

$$6,735 : 10^{-1} = 67,35$$

$$7,936 : 10^{-1} = 79,36$$

$$5 : 10^{-1} = 50$$

$$3,48 : 10^{-1} = 34,8$$

$$4,1 : 10^{-1} = 41$$

$$7,349 : 10^{-1} = 73,49$$

$$4,68 : 10^{-1} = 46,8$$

$$6,1918 : 10^{-1} = 61,918$$

$$8,2366 : 10^{-1} = 82,366$$

$$2,06 : 10^{-1} = 20,6$$

$$4,35 : 10^{-1} = 43,5$$

$$0,7 : 10^{-1} = 7$$

$$4,3 : 10^{-1} = 43$$

$$9,22 : 10^{-1} = 92,2$$

$$8,67 : 10^{-1} = 86,7$$

$$9,79 : 10^{-1} = 97,9$$

$$2,68 : 10^{-1} = 26,8$$

$$6,1381 : 10^{-1} = 61,381$$